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A. HCIRTNaOH = b ) H Al #AH = — 57.3kJ/mol,_ M/ H2SO4M Ca(OH)25Z B i H A HAH=2x(—
57.3)kJ/mol

B. CO(g) IRk #283.0kJ/mol, M2CO2(g) =2CO(g)+F Q2N M K AH=+2x283.0kJ/mol
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2C(s) +02(g) =2CO () AH2 AH1 < /AH2

A.BHI2S02(2)+0252503(g) AR, NSO2MEEE — & = T SO3HIRE &
B.EAIC(ASs)=<C (£NIF.s) WH>0, MERIALLARREE
C.E&IH+(dq)+OH-(aq)=H20(DAH=—57.3kJ / mol, JU4E 1T BB o A0 52 7 F) B2 39 57,3 kI
D. BHI26(3) +202(g) =2-C02(g) AHI
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A. CH30OH(1)+3/202(g) — CO2(g)+2H20(l) AH=+725.76 kJ-mol-1
B. 2CH30H(1)+302(g) — 2CO2(g)+4H20(l) AH=-1 451.52 kJ-mol-1
C. 2CH30H(1)+302(g) — 2C02(g)+4H20(l) AH=-725.76 kJ-mol-1
D. 2CH30H(1)+302(g) — 2C02(g)+4H20(l) AH=+1451.52 kJ-mol-1
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A. 4/50(NH3)=v(02)

B. 5/60(02)=v(H20)

C. 2/3v(NH3)=v(H20)




